NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER

SPARE PARTS CATALOG

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 1 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Door Assembly

780976 Door Assembly, Dry Condiment Dispenser 1 EA.
100104 ‘ 4 - Lock Washer 3/8” External Tooth Zinc 1 EA.
100191 O Nut, Hex 6-32 SS 1 EA.
100243 Y6 Nut, Hex 4-40 SS 1 EA.
102065 (o Pl Door Magnet 1 EA.
) ™
103120 e Lock Washer #8 Internal Tooth SS 1 EA.
103405 Ribbon Cable 1 EA.
105110 n Screw, 6-32 x 3/8” Combo Black Zinc 1 EA.

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 2 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Door Assembly - Continued

110766 Lock Washer #4 1 EA.
111527 Screw, 6-32 x 7/16” SPHMS Black 1 EA.
/ T
T
2 Bl
773041 {@ Screw, #8 Housing 1 EA.
{ Ky )

780975 Label, Door [Dry Condiment Disp.] 1 EA.

780974 o 2 e Yol Label, Switch Dry Condiment Dispenser 1 EA.

781259 IE[‘ Hinge, Female 1 EA.
781591-BPC Inner Door Panel, BPC 1 EA.
781593-BPC Access Plate, Door BPC 1

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 3 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Door Assembly - Continued

|
781596 Membrane Switch 1 EA.
781696 Plastic Door 1 EA.
781697 == Adhesive Clamp 1 EA.
781783 Overlay, Clear Label 1 EA.

i

Fabricated Parts

-
108014 Access Plate 1 EA.
780977 Body, Spot-welded 1 EA.
781576 Front Plate 1 EA.
781597 Cover Assembly 1 EA

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 4 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Fabricated Parts — Continued

781676 Rear Cover Panel 1 EA.
Miscellaneous Parts
100054 T % < Lock Washer, #8 External Tooth SS 1 EA.
o
100194 i\ Pop Rivet, Flat Head 1 EA.
| ¥
100212 ¥ 3 Lock Washer #6 External Tooth SS 1 EA.
100817 Label, Warning “Precaution” 1 EA.
AVWARNING. ) )
100821 M:_:g Label, Warning “Electrical Shock” 1 EA.
101035 u Grommet, 14/3 Strain Relief 1 EA.
)
102001 Y } J' Rivnut, 8-32 Hex 1 EA.
e

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 5 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Parts — Continued

102333 Screw, Self-tapping 6-32 x 3/8” Combo Head 1 EA.
104015 Bezel Adaptor, Black Plastic 1 EA.
105048 i }!, Screw With Washer, 8-32 x 3/8” PPHMS SS 1 EA.

105115 Transformer, 120VP 24VCT 40VA S 1 EA.
107240 Q a} Nut, 8-32 With Nylon Insert 1 EA.
',"“J;-’g
7
110359 5 & Screw, #8 x 1/2" PPHZPS Hi-Lo 1 EA.
‘l-* - { J
110626 Rocker Switch, DP/ST Rectangular 1 EA.
111377 Foot, Appliance 3/8-16" x 1" 1 EA.

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 6 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Parts — Continued

-,
111667 € l@ Jam Nut, 3/8-16" ZPS 1 EA.
gl ]
202044 '\ Insert, Tubing 3/16” 1 EA.
Craseny:  Chusssos o
400424 Label, Coffee Companion 1 EA.

Sivetoner  Swetener  Svetemer

780982 Harness, Transformer Dry Condiment Dispenser 1 EA.

780981 [‘=_n4 Harness, Line Dry Condiment Dispenser 1 EA.
-

780983 Harness, Auger Dry Condiment Dispenser 1 EA.

780984 Board Assembly, Dry Condiment Dispenser 1 EA.
B

781258 \ Hinge, Male 1 EA.

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 7 of 8



NEWC

ENTERPRISES, INC.

DRY CONDIMENT DISPENSER SPARE PARTS

ITEM # IMAGE DESCRIPTION UM

Miscellaneous Parts — Continued

781587 Auger Motor, 90 PRM 24V DC 1 EA.

781691 “ Drip Tray & Grid, Plastic 1 EA.

781833 Elbow, Dispenser Spout 1 EA.

781843 N Power Cord, 14/3 15AMP 120V 1 EA.

781864 Hopper Assembly, 3 Lbs. Reversed 1 EA.

29-Jul-13 NEI 1.800.325.7867 www.newcocoffee.com Page 8 of 8



